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Fill your answer in the blank near to each question.

Problem | Question Your
answer

MS.01 How many cubes are in the figures?
Co bao nhiéu hinh lap phwong nho trong hinh duoi day?

MS.02 The following diagram shows that hanging up one handkerchief requires
2 clips and 2 handkerchiefs require 3 clips. In the same way, how many
clips are needed to hang up 21 handkerchiefs?

Hinh dwdi day mo ta viéc treo mot cai khan thi can 2 cdi kep, treo 2 cai
khan thi can 3 cdi kep. Hoi vé6i cach twong tie nhie vy, dé treo 21 cdi
khan thi can bao nhiéu cdi kep?
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MS.03 How many beads are inside the box?
Co bao nhiéu hat bén trong hop?
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MS.04 In the figure below, the table cloth is missing a piece. Which piece of
cloth from number 1 to 4 can be used to repair it to its own pattern?
Trong hinh duoi ddy, mot cai khan trai ban bi thiéu mat mét manh. Hoi
trong cac manh dwoc danh s6 tir 1 dén 4 ¢6 thé duwoc dimg dé dan vao
ché thiéu dé sao cho hop qui ludt?
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MS.05

When you write all the counting numbers from 1 to 100, how many times
do you write the digit “0”?
Khiviét cac so ty nhién twr I dén 100, can dung bao nhiéu chir so 0?

MS.06

How many different triangles can you find from the star figure?
Co bao nhiéu tam gidac khac nhau trong hinh ngoi sao dwoi ddy?

MS.07

The scale below is showing the left side weighing heavier than the right
side. We want to make the two sides balance or equal (both sides weigh
the same). Which 2 balls should we exchange to make the two sides
equal?

Trong hinh cdi can dwéi ddy, phan cdn bén trai ndng hon phan cdn bén
phdi. Chiing ta muén lam cho can thang bang (hai bén ¢é khéi lwong nhw
nhau). Hoi hai qud béng nao ¢ hai phia can @i ché cho nhau dé dat
dwoc cdn thiang bang?

MS.08

Aaron is waiting in a line. He is in the 5% place counting from the front
and he is in the 8" place counting from the back. How many people are in
this line?

Aaron dang xép hang doi. Cdu dy dimng thir 5 néu dém tir trwée cdu dy
xuong, con néu dém tir phia sau thi cdu dy dimg thir 8. Héi ¢6 bao nhiéu
ngueoi dang xép hang?

MS.09

I am a 3-digit even number. If you round me to the nearest ten, I become




200. The sum of my digits is 18. What number am 1?
Toi la mot s6 chan cd 3 chit so. Néu lam tron dén gan muoi nhat thi t6i sé
la 200. Tong cac chir so cua toi la 18. Hoi téi la s6 nao?

MS.10

Peter is 14 years old and Amy is 16 years old now. In how many years
later will the sum of their ages equal 507

Hien nay Peter 14 tuéi va Amy 16 tuéi. Hoi sau bao nhiéu nam nita thi
tong sé tuoi cua hai nguoi la 50?

MS.11

What would be the time exactly 131 minutes after 11:00 AM?
Hay tim thoi gian sau 131 phut ké tw luc 11 gio sang?

MS.12

Which of figures A, B, or C has the same perimeter as figure X?
Hinh nao trong cdc hinh A, B hodc C dudi day co cung chu vi voi hinh
X?
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MS.13

I am a number and I am made up using 3 different digits. The sum of all
my digits is 3. My ten thousands digit is double of my tens digit. What
number am [?

T6i la mét s6 va téi dwoc tao thanh tir 3 chit sé khdc nhau. T(fizg cac chir
s6 ciia t6i la 3. Chit s6 hang mwoi nghin gdp déi chir s6 hang chuc. Hoi
16i la 56 ndo?

MS. 14

From the diagram below, which one of the five boxes is the lightest?
Tuwr cac hinh dwoi day, hay cho biét hop nao trong 5 hop la nhe nhat?
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MS.15

How to use all these 6 digits: 2, 5, 6, 7, 8, 9 to form a correct 2-digit
addition problem?

Hay ding tdt ca 6 chit sé 2, 5, 6, 7, 8, 9 dé tao thanh phép todn cong
(diing) cdc s6 c6 2 chir so. Viét phép todn do.

MS.16

If today is April 16, the 27th day after tomorrow will be
Neéu hom nay la 16 thang tw thi 27 ngay sau sé la ngay ...

MS.17

What is the 2-digit number equal exactly twice the sum of its digits?
Tim s6 ¢6 hai chit s6 gdp 2 lan tong cdc chir s6 ciia né.

MS.18

The picture below has six rows. If this pattern were continued downward
to have 12 rows, how many more squares than happy faces would there
be in the picture?

Hinh duwdi ddy c6 6 hang. Néu qui ludt hinh d6 tiép tuc cho dén 12 hang,
khi @6 s6 hinh vuéng nhiéu hon sé mdt cueoi la bao nhiéu?
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MS.19 Find the value of each fruit.
Tinh cac gia tri cua moi logi qua dwoi day.
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MS.20 Melanie gave her mother a bouquet of 24 flowers. The bouquet was made

up of roses, carnations, and daisies. There were twice as many daisies as
roses. There were 3 times as many carnations as roses. How many of each
kind of flower were in the bouquet?

Melanie tang cho me mot bo hoa g5111 24 bong hoa. Bo hoa duoc bo tir
cdc bong hoa hong, hoa cam chwdéng va hoa ciic. S6 lwong hoa ciic gip 2
lan s6 heong hoa hong. S6 luong hoa cam chudéng gdp 3 lan sé lwong hoa
hong. Tinh sé hoa moi loai ¢é trong bé hoa d6?
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